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Warm Up Grade 8

a) List 3 things you 
know from the graph.

b) What is its 
advantage and its 
downfall?
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Using Spreadsheets to draw graphs
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gr 8 u7 dm graphs with excel.xlsx
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Misrepresenting Data

What does each graph represent?

The average price of a house in Victoria and Fraser Valley each year 
from 2002 ­ 205

At first glance which graph appears to show the greater difference in house 
prices? Why?

The graph on the left. There is a greater difference in height for each pair of 
bars in this graph.

Do the graphs display the same data?

Yes, when you read the price using the scale on each graph, you get the 
same price.

What is the scale of each graph?

The graph on the left has a scale of 1 square represents 20 thousands 
dollars.  The graph on the right has a scale of 1 square represents 50 
thousands dollars.

Does the scale on each graph start at zero?

The graph on the left uses the zigzag symbol to sow that the vertical axis is 
only partially shown.

Is the graph on the left  incorrect? Do you think someone who uses this graph 
to show the difference in houses prices is lying? 

No.  Both graphs represent the data. However, the graph on the left 
emphasizes the difference in the average price of a house in Victoria and a 
house in Fraser Valley.
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This bar graph is misleading.
It suggests that Vancouver has more than
30 times as much precipitation as Whitehorse.
This graph has no measurements of the amount 
of precipitation.

Visually, this graph shows the same
information as the first graph. However, the 
horizontal scale is labelled with the amount of
precipitation, and the scale does not start at 0.

The scale shows that Vancouver has about
1170 mm of precipitation and Whitehorse
has about 270 mm.

This graph accurately shows the data.
The horizontal scale starts at 0.

The lengths of the bars are shown in the correct
ratio. Vancouver has between 4 and 5 times as
much precipitation as Whitehorse.
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There are many ways in which graphs can be drawn to
misrepresent data. Graphs like these may be found in
the media to create false impressions.

How could a circle graph be misleading?

 ­ Sectors may be treated differently to 
draw attention to it

How could a pictograph be misleading?

 ­ Different sized symbols

­ No Key givven

How could a bar graph be misleading?

 ­ Different widths of bars

­ No Scale given

­ Scale may be too large or too small

How could a line graph be misleading?

 ­Distance between points may not be 
proportional to the length of time 
between the recorded times.

­ No Scale given

­ Scale may be too large or too small
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In this pictograph, the symbols have different sizes.
The three large ice­cream cone symbols give the impression 
that bubble gum is the favorite flavour.
When the key is used, chocolate is the favourite flavour.

A part of a graph may be treated 
differently to draw attention to it.
A milk company uses this circle graph 
to draw attention to the milk sector.
The sector for milk is not as large as 
the sector for water, but the special 
treatment makes it seem larger.

In this bar graph, the wider bar creates the impression
that many more boys than girls scored higher than 80%.
In fact, the number of girls who scored higher than 80%
is greater than the number of boys.

In the bar graph below left, the scale on the vertical axis is 1 square represents 3 
students. The difference among the heights of the bars are easily seen.

In the graph below right, the scale on the vertical axis is 1 square represents 10 
students. This change in scale makes the difference among the heights of the 
bars less evident.
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From this line graph, Shiva made the conclusion that
salaries have almost tripled in 6 years.

a) Shiva's conclusion is not consistent with the data.
    Explain her misinterpretation.

b) What changes should be made to the graph to 
    accurately show how salaries have changed in 
    6 years?

RANGE???

Scale on vertical axis should start at 0.

Use a scale of 1 square represents $5000
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http://www.shodor.org/interactivate1.0/elementary/discussions/
ElemGraphsdiscussion.html

http://www.shodor.org/interactivate1.0/elementary/discussions/ElemGraphsdiscussion.html
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Page 399 ­ 401

#3,#4, #5, 

Monday ????below

   #6, # 7, #8, #9, #10, #11, #13, #14 
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Using Spredsheets 1.xlsx


Sheet1

		Place 		Number of People

		School		5700

		Work		4100

		Club or Organization		1400

		Organization		700

		Home/neighborhood		4300

		Through family		1200

		Through friends		1100

		Other		600



Number of People	School	Work	Club or Organization	Organization	Home/neighborhood	Through family	Through friends	Other	5700	4100	1400	700	4300	1200	1100	600	Number of People	School	Work	Club or Organization	Organization	Home/neighborhood	Through family	Through friends	Other	5700	4100	1400	700	4300	1200	1100	600	

Sheet2

		Average Hours of Television

		Province 		Number of Hours

		Newfoundland/Labrador		12.3

		Prince Edward Island		12.3

		Nova Scotia		13.8

		New Brunswick		12.6

		Quebec		13.5



Average Hours of Television Number of Hours	Newfoundland/Labrador	Prince Edward Island	Nova Scotia	New Brunswick	Quebec	12.3	12.3	13.8	12.6	13.5	Average Hours of Television Number of Hours	Newfoundland/Labrador	Prince Edward Island	Nova Scotia	New Brunswick	Quebec	12.3	12.3	13.8	12.6	13.5	
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Sheet1

		Place		Number of people

		School		5700

		Work		4100

		Club or Organization		1400

		Organizations		700

		Home/neighborhood		4300

		Through family		1200

		Through friends		1100

		Other		600
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